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Do not open this Test Booklet until you are asked to do so.
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Booklet, take out the Answer Sheet and fill in the
particulars carefully with blue / black ball point pen
only.

2. The test is of 120 minutes duration and consists of

150 objective type questions. Each question carry 2
marks for correct answer. 0.5 marks will be deducted
for each wrong answer.

3. Use Blue / Black Ball Point Pen only for writing
particulars on this page and marking responses in the
Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked
by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet

6. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
answers.

7. After opening the Test Booklet. please immediately
ensure that the Test Booklet contains as many number
of pages as written on the top of this page. Also ensure
that no page or question is misprinted, torn or left
blank. Ifany discrepancy is found in test booklet. show
it to Invigilator and get it replaced with test booklet
of same series.
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GENERAL KNOWLEDGE

Q1  Which device can be used to measure the
density of a liquid?
(A) Anemometer (B) Bevameter
V(C} Eudiometer (D) Pycnometer

Q2 The Central University Babasaheb
Bhimrao Ambedkar University, Vidya
Vihar, is located in which city?

(A) Agra
(B) Kanpur
(C) Varanasi
D) Lucknow

Q3  Where is the headquarters of the Uttar
Pradesh Police located?
(A) Bareilly
) Prayagraj
(C) Noida .
(D) Meerut - -

Q4  Inwhich year did Uttarakhand come into
existence?
(A) 2000
(B) 1991
(C) 2016
(D) 2011

Q5  Barsana Holi is played with
(A) tomatoes
(B) milk
(C) stones

.pD) sticks

Q6  The Kampli Fair held in Uttar Pradesh is
associated with which community?
(A) Jain
(B) Sikh
(C) Christain
(D) Buddhists
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Q7 is an exponent of Kathak
dance in India.
(A) Sonal Mansingh
(B) Mallika Sarabhai
L) Pandit Birju Maharaj
(D) Uday Shankar

Q8  Which of the following is NOT one of the
stages of the selection procedure of UP
Police Department?

(A) Physical Test

(B) Educational Qualification
(C) AgeEligibility
A)) Language Test

Q9 According to a legend, which God
sacrificed ten  horses during
Dashashwamedh yajna performed at the
Dashashwamedh Ghat?

(A) Lord Vishnu
¥B) Lord Brahma
(C) Lord Shiva
(D) Goddess Kali

Q10 Which of the following is the highest
gallantry award in India?
(A) Ashoka Chakra
V(B) Param Vir Chakra
(C) Kirti Chakra
(D) Vir Chakra

QIl  *“My Passage from India™ is a book written
by g
(A) Mulk Raj Anand
(B) Edward Morgan Forster
(C) Vidiadhar Surajprasad Naipaul
D) Ismail Mechant

Q12  World Environment Day is held on which
day?
(A) 22nd April
.;(C) Sth June

(B) 8th May
(D) 11thJune
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Q13 Who invented the jet engine?
(A) Roger Bacon
v/(B) SirFrank Whittle
(C) James Watt
(D) Lewis Edson Waterman

Q14 Which of the following social media
networks is NOT a publicly listed
company?

(A) Twitter

(B) Facebook

(C) Weibo
/(D) Quora

Q15 Which Indian state has its maximum area
under forest cover?
(A) Kerala
(B) Maharashtra
(C) Uttar Pradesh
V(D) Madhya Pradesh

= Ql6 __istheofficial currency of Finland.
z (A) Dollar (B) Pound
3 (C) Rial YD) Euro

Q17 Which line demarcates the boundary
between India and Pakistan?
(A) McMahon Line
JB) Redcliffe Line
(C) Madison Line
(D) Durand Line

Q18 Pyongyang is the capital of which country?
(A) Maldives (B) Mongolia
(C) Malaysia «D) North Korea

Q19 Which of the following is NOT a state of
the United States of America?
(A) New York (B) Minnesota
(C) Louisiana  (£D) Atlanta

Q20 The people of Lakshadweep speak which
other language besides Malayalam?

(A) Tamil «B) Mahl
(C) Bengali (D) Hindi
SERIES-A
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(D) ¥ TeHA diexia

Q14 F=faRag # & = w1 smnfore Aifgar
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(A) Twitter (€fdeR)
(B) Facebook (#¥1gd)
(C) Weibo (drzd)
D) Quora GEIRY)

Q15 frw W wwg # waiw & # a9
Rerar &7
(A) e
(B) HERIE;
(C) SR W3«
v (D) 51 g

Q16 fproive & Iaad qeT & |
(A) SferR (B) s
(C) Raret W

Q17 & I Y@ WRa AR g & 4=
P AT T dwn 87
(A) FHIET Y@
AB) Ysfaem ar
(C) Afsw wrg
(D) U I

Q18 whrai fara e @1 ol 87
(A) #TeTEId (B) #mferar
(C) weifRm D) IR BIRAT

Q19 Fr=feRed 3§ § B 1 wga oy RS
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(A) @@ (B) fa=rer
(C) gEfrar D) e
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2
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Q21

Q22

Q23

Q24

Q25

Q26

Q27

¢/(A) Rajaram

Name the younger son of Shivaji who was
also the third Chhatrapati.

(B) Sambhayji

(C) Shahu (D) Bajirao

isan ancient folk dance
originating from Odisha.

(A) PuliKali (B) Raut Nacha

(C) DolluKunitha ¢J8) Ghumura

In the 2018 Union Budget the salary of
the President of India was increased to
per month.

(B) %15 lakh

) 75 lakh

(A) Z1.5 lakh
(C) %50 lakh

India ranks at 3rd position, behind
and Indonesia, in its annual

coconut production.

(A) Madagascar (B) Myanmar

(C) Malaysia D) Philippines

The handwritten Constitution was signed
on 24th January, 1950, by 284 members
of the Constituent Assembly, which
included women.

(A) 30 (B) 20

‘G) 15 (D) 25

The Kakori train robbery was conceived
by Ram Prasad Bismil and
(A) Khudiram Bose
(B) Shivaram Rajguru
JC) Ashfaqullah Khan
(D) Jatindra Nath Das

Bagru is one of the famous centres of hand
block printing in
(A) Jammu and Kashmir

B) Rajasthan

(C) Assam
(D) Kerala
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Q28 The cash reserve ratio as on November

2018 set by RBI is percent.
(A) 5 (B) 6
«) 4 (D) 7

Q29 Hawa Mahal was built in 1799 A.D. by
Mabharaja 2
(A) Prithviraj Chauhan
(B) Rai Bular Bhatti
VC) Sawai Pratap Singh
(D) Rani Padmini

Q30 Antonio Guterres, the incumbent UN
Secretary-General was the Prime Minister
of which country?

(A) Spain v{B) Portugal
(C) Brazil (D) Mexico

Q31 The first international cricket match
played at Lucknow’s Ekana cricket
stadium after its inauguration was a T20
game played between India and

AA) WestIndies (B) SriLanka
(C) Australia (D) England

Q32 The 2022 Asian Games will be hosted by

(A) Australia v’(‘B} China
(C) Singapore (D) Malaysia

Q33 Name India’s Chief of the Army Staff
(COAS), who took office on 31st
December 2016.

oA) General Bipin Rawat
(B) General Shankar Roychowdhury
(C) General Bikram Singh
(D) General Vijay Kumar Singh

Q34 Where was the 33rd ASEAN summit held
in Novermber 20187

(A) Indonesia (B) Thailand
¢£) Singapore (D) Malaysia
SERIES-A

Q28 et Rurd §& grr fFuifRa F9av 2018
# @ aRferd argua_ ufoerd 81
(A) 5 (B) 6
JC) 4 (D) 7

Q29 EdHEA 1799 2. § HERTT NI
qEaTET AT o |
(A) GRS e
(B) I gk W
W) warg uamRiE
(D) =T gf¥r

Q30 wHgaw I HETHE velr e fha
<9 @ yuE HA A?

(A) |+ /(B) g
(C) sfaer (D) At

Q31 U & 418 d@TSH B bl fhdbe

wfEzw 5 @ T4 ugen RIS fhae
9 MR 3R & &g Qo Tar
% E120 W9 o1
V(A) T 8 (B) sida
(C) sifegferar (D) g7eivs
Q32 a¥ 2022 & URrE @Wa @ AEE!
gRT I SIQ |
(A) diigforar yAB) @
(C) Ry (D) #AfRrn

Q33 WRd @& Aim il wiw (¥afwew) &1
qm qan, reF 31 REaw 2016 @1
JEH FHTAT 2T |
wA) SR fafus e
(B) iXel ¥ix fderd
(C) W vet fasha e
(D) wivet faw AR f¥e

Q34 <daRr 2018 ¥ 33 af R @R AW
wel amaford e rar enm?
(A) SRR (B) UiETS
o) RImgR (D) weif¥mr

SET-17

AllGovernmentJobs.in

5494775
OO

na
¥y E



Q36

Q37

Q38
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Which organ in the human body produces
insulin?
(A) Liver
(C) Spleen

¢/(B) Pancreas
(D) Gall bladder

Which of the following is a non-metal that
remains in liquid state at room

temperature?
(A) Mercury ¥B) Bromine
(C) Chlorine (D) Helium

Which of the following elements has the
smallest atomic radius?

(A) Bromine V{B) Chlorine

(C) Sodium (D) Calcium

CH,COOCH,CH, is the formula of

(A) Butanoic acid
(B) Methyl ethanoate

C) Ethylethanoate

(D) Propanoic acid

SERIES-A
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(A) Iga
(C) faeeh

vil) s
(D) R

fr=ferfad # & @ |1 aw@ U g |
o weftg arHE R g9 g H el
87

(A) 9mT
(C) T+

uB) A
(D) feferm

feriferRae # ¥ fore aca a1 wveTy] P
T Brer B 87

(A) s vB) e

(C) wnfeam (D) Bfewam

CH,COOCH,CH, BT B |

(A) T 37
(B) Mrerrget EOEI

V(C) Tre g2

(D) WUTge 3
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Q39

Q40

Q41

Q42

Q43

Q44

Q45

NUMERICAL ABILITY

A is half as efficient as B who is thrice as
efficient as C. In how many days can all 3
of them complete a task if B can complete
the task alone in 6 days?

(A) 3.13 W) 327

(€) 333 (D) 3.36

X travelled a distance of 75 km in 8 hours.
He travelled partly by foot @ 5 km/h and
partly on bicycle @ 12 km/h. Find the
distance that X covered on foot.

(A) 12.5km (B) 13.75km

(C) 14.25km @ !5km

A sphere of radius 10 cm is melted and
made into a cone of height 10 em. Find
the diameter of the cone.

(A) 10cm (B) 20cm

¢£) 40cm (D) 80cm

A set consists of 5 consecutive integers
starting from 3. What is the percentage
decrease in the average of the set when
the greatest integer is removed from the

set?

(A) 8.5% ) 10%
©) 1% (D) 12.5%

Which one of the following is the minimum
sum of 2 integers whose product is 647
(A) 12 (B) 8

(C) 20 P 16

Find the least number by which 1,200 must
be multiplied to make it a perfect square.
(A) 2 wB) 3
(©) 4 (D) 5

Find the value of’

JB +27 + (73 +\64))).

(A) 1 (B) 2
W) 3 (D) 4

SERIES-A
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Q40

Q42

Q43

Q44

Q45

V) 3

A.B & Imm @@ & W C A fpn
Hordt 21 AHF fdar tF s
At # gur &R W, Ik B e U8
&M 6 AT # qu1 HR [ 87

(A) 3.13 oB) 327

(C) 3.33 (D) 3.36

X ¥ 8 € H 75km @ gq a° B
I8 Hif¥ep wu A Iga 5 km/h 3 1fa
@ v afites w9 | dgfea W
12 km/h @Y 71T @ arsn #1 X gR1 UEd
qu @ g g S BN

(A) 12.5 km (B) 13.75 km
(C) 1425km b)) 15km
10 cm FProan arert s e fireremar s

2 3l 10 cm TS a16] ¥ 41T Sl
R U @ AT SR B

(A) 10cm (B) 20 cm

59) 40cm (D) 80cm

P e H 3 § YH 8F dldl TR 5
e g7 &1 3 W A |q wad d9l
yuies ger fRar R A 39 W & i
¥ fbam wftrere @ &9 8l 2?

(A) 8.5% vV/(B) 10%

(©) 1% (D) 12.5%

freferfaa o & @ w1 YA 2 Qi
&1 I & FraaT UTEd 64 87

(A) 12 (B) 8

(€) 20 J0) 16

a8 B | 91 W@ wd W e
BRI 1,200 & v goi @t g= i @ forg

ort fsam e @nfRy |
(A) 2 wB) 3
(€ 4 (D) 5

JG +J27 + (73 + J6ay) @1 514 w1
H |

(B) 2
(D) 4
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x 4
Q46 If T =§ and 7x + 6y =29, find the value

of'y.

WA) 2.5 (B) 2.4

(C) 2.3 (D) 2.2

Q47 The HCF and LCM of 2 numbers are 2

and 60 respectively. If one of the numbers
is 14 more than the other, find the smaller
number.
(A) 4 (B) 5

VQC) 6 (D) 7

Q48 39 candies are to be distributed to A and
B in the ratio of 4:9, how many more
candies does B get than A?

(A) 12 v (B) 15
(C) 27 (D) 33

Q49 An article was sold for 2,288 at a
discount of 20% after 2 successive
mark-ups of 10% and 30%. Find the cost
price of the article.
(A) T1,500 (B) 1,750
(C) 71,900 (D) 32,000

Q30 A cloth piece was purchased for T600. At
what price should it be sold to geta profit
of 12.5% after a tailoring charges of T40
was paid for?
(A) 3640 (B) %680
(C) %700 v (D) 2720

Q5! An article was bought for ¥2,500. He
allows a discount of 12% on its marked
price and still gains 10%. Find the marked
price of the articles.

VI(A) 23,125 (B) %3.500

(C) 3,200 (D) %3,000

Q52 In how many years will 21,500 double
itself under simple interest system of 4%
pa?
(A) 20 years (B) 24 years

VQC) 25 years (D) 27 years

SERIES-A
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Q46 afa T 3R 7x + 6y =29, @ y BT AH

STl @ |
V(A) 25 (B) 2.4
(C) 2.3 (D) 22

Q47 Q1 WSl B HETH GHIIAHD 3
e A @ 2 iR 60 1 AR
o Tl # A S qEr B e 6 14
afe 2, dr B e s &

(A) 4 (B) 5
¥ 6 (D) 7

Q48 4:9 & U H A 3R B& €9 39
e faaRa & ond) 8 B® AW
frerh et &9 e &7
(A) 12 v(B) 15
(©) 27 (D) 33

Q49 10% 3R 30% @ <1 e fafesa Eogl
@ aTg 20% B VL U T a%] 12,288 A
Iy | g B ST q F BN
(A) T1,500 (B) 21,750
(C) 21,900 (D) 22,000

Q50 HUS BT Y THST 600 H wirgT T4 |
Riems Yo @ wI A 0TI B AR
12.5% T @i ur @ farg g9 fe
R &g S anfae?
(A) 2640 (B) 2680
(C) T700 D) 2720

Q51 uH a¥g ¥2,500 # WAL T$ | GHIER
@ 3ifha dWd W 12% @B g B
argafe &ar & 3R e A 10% am ur<d
var &1 avg @ sifha Hd g W

v/(A) 33,125 (B) 3,500

(C) %3.200 (D) 3.000

Q52 4% ufy af @ |ERE AT YOIl @
agd fraet ad A 21,500 A & W7
(A) 20 a9 (B) 24 a4
o) 25 8 (D) 2774
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Q53

Q54

AN 3336

Z1,000 becomes ¥1,144.9 in 2 years. At
what rate is the principal amount
compounded annually?

(A) 6% B) 7%

(C) 8% (D) 9%

A loss of T1,152 has to be divided among
A, Band C in the ratio 7:8:9, then what is
the share of A?

(B) %342

(C) 2360 (D) %384

A. B and C subscribe to a business of
Z50.000, B subscribes 6,000 more than
C and A subscribes 2,000 more than B.
What will be A’s share of profit out of a
total profit of ¥10,000?

(A) 22,000 (B) 32.500
(C) 33,250 wD) 24,000

Q56 A grocer has a sale of 32,000, 32,500,
73,250 and ¥4.250 in 4 months. How
much should his sale in the 5th month be
to get an overall average of33,500?
(A) 32,500 (B) 3,500
(C) T4.,500 ‘P) 35,500

Q57 B&C cancomplete atask in40 days while
A, B & C can complete the task in 20 days.
In how many days can A complete the task
alone?
(A) 20 (B) 25
(C) 30 (P 40

SERIES-A

Q54

Q56

Q57

AA) 3336

Z1.000, 2 a9 % Z1,1449 B ol &1

el WY ATl fhe oX @ wshgfe @
SR T 2?

(A) 6% “B) 7%

(C) 8% (D) 9%

A.B 3R C& 914 21,152 &1 b9E
7:8:9 & arqura # ffor e anfey, o
A &1 few @ 27

(B) 3342

(C) 3360 (D) %384

A.B @1 C+ 50,000 &1 HRIAR R
fbar) B C & goidr A ¥6.000 3o
fou qem A B @Y g § 22,000 3ifom
faw | af @er @1 210,000 o1 @1 &1
A &1 &R fbeasm ar?

(A) 22,000 (B) 22.500

(C) 33.250 A 34.000

UE Tl @) R "EE § B 32,000,
22.500, 73,250, T4,250 @ fazit &t 21
3,500 & 3irgd g ma & & fog
dred 98 ¥ S Qs @7 faaar g
affge?

(A) 32,500 (B) 3,500
(C) 4,500 ) 3500
B 3R C v & 40 AT # qur &= wabal

&, oafh A, B3R C a8 @ 20 &1 4
R P FHA & | A b 78 b fbe
fe=t ¥ Yz &R e 87
(A) 20 (B) 25
(C) 30 @40
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MENTAL ABILITY

Q58 Select the option that is related to the third
word as the second word is related to the

first word.

MUSIC : SZWLE :: CANOE : ?
(A) IFRSG (B) IERRG
v() IFRRG (D) IERSG

Q59 Find the missing numbers to complete the

given series.:

9,16,24, 33,7, 54,7

(A) 42:65 (B) 43:65
SAC) 43,66 (D) 42:66

Q60 Find the missing numbers (X and Y) in the
series and find the value of Y/X:
10, 10, 20, X, 240, 1200, Y
(A) 60 (B) 120
(C) 240 (D) 480

Q61  Find the pair of the numbers that would
fit into the pattern.
711,812,913,1014,27

W) 1115 (B) 1014
(C) 1114 (D) 1015
Q62 Which of the following options series is

built on the same logic as :

¢, F.1.L,0

(A) L,O,S,U, X (B) L,O,S, Y
(C) L,O,R, V.Y @ L,O,R, U, X

Q63  Fill the missing letter in the given series.
A, A BE?
(A) W wB) X
€)Y (D) Z
Q64 Which pair in the options will complete
the following series?
AZ,YB, __ ,WD,
o(A) CX; VE (B) CX;EV
(C) CV:EX (D) EV;CX
SERIES-A

Q58 39 fadey &1 999 B O R e |
I PR ¥ HafRd & O uR O ugr
v g e 9 waftr 2
MUSIC : SZWLE :: CANOE : ?

(A) IFRSG (B) IERRG
¥C) 1FRRG (D) IERSG
Q39 f=fafaa gwen &1 w1 w7 & fog
g AR B A |
9, 16,24, 33,2, 54,2
(A) 42:65 (B) 43:65
JC) 43166 (D) 42:66

Q60 3j@e # gu WA (X 3R Y) S o
v Y/X BT HIT @ B |
10, 10, 20, X, 240, 1200, Y
(A) 60 “(B) 120
(C) 240 (D) 480

Q61 R F SIS 5 B, W g9 Yei A

Suga |
711,812,913,1014,2?
K115 (B) 1014
(€) 1114 (D) 1015
Q62 fav 7y Rwedl § § B @ @ &
@ i sfgen & a@ @ e 82
CFLLO
(A) L,O,S,U,X (B)L,O,S,V,Y
(C) L,O,R,V,Y ¥) L,O,R, U, X
Q63 9 el i gu IR B ugdr Y|
A.A,B,F,?
(A) W v(B) X
©) Y (D) Z
Q64 famedi % 9 wirar g Frafafaa gaar
PN QT FRAT?
AZ,YB, __ ,WD,___
WA) CX; VE (B) CX; EV
(C) cV; EX (D) EV; CX
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Q65 IfAxBmeansAistobesouthof B:A+B
means A is to the north of B; A % B means
A is to the east of B; A - B means A is to
the westof B;theninP% Q +R-S,Sis
in which direction with respect to Q7
(A) South-west

v (B) South-east

(C) North-west
(D) North-east

Q66 One morning, X starts walking towards
the sun, then takes a right, then takes 2
consecutive lefts. Towards which direction
is the walking now?

/(A) North (B) East
(C) West (D) South

Q67 A child went 90 feet in the west to look
for his father, then he turned right and went
20 feet. After this, he turned right and
walked 30 feet to reach his uncle’s house.
His father was NOT there. From there he
went 100 feet to his south and met his
father. How far did he meet his father from
the starting point?
(A) 140 feet (B) 110 feet
(C) 120 feet o) 100 feet

Q68 X walked from pointAto B. He turns right
and walks 17 feet. He again turns right
and walks a distance which is equal to that
of from A to B. He again turns right and
walks 9 feet. How far is he from the
starting point?

(A) 7 feet (B) 7.5 feet
JC} 8 feet (D) 9 feet
SERIES-A

Q65

Q66

Q67

Q68

gfe AxB@r el @ A, B@® &fdor 7 2;
A+B® 3 8 A, Bd SaX H &
A%B @ 3 2 ABD gyd # 2:A-B
Fraef g, ABS uREH A8, AT P%Q
+R-SH Q& way # S e fowm 4 87
(A) cferr—uf¥as

Y <

(C) Icc—uf¥gH

(D) SerR-gd

UF gag, X 1 WA Bl IR g1 IS
o, fhe a Tvw e, R oImaR 2
R q] FoT| 3@ aw fea fRwm # =
V&l &7

i SR (B) @
(C) uf¥=m (D) afeor

U gedr A9 far @ Ty A B
fore uf¥em # g0 Wie T, fv 98 I
HeT 3R 3T 20 Wie TAT| $Hd 415 T8
TG o7 3R 30 WIe 9M B a1< 98 0
aral @ OY Ugar | 96 e gei el & |
g8 @ g8 Sfar § 100 wie T 3R
aqe faar & faen | goomh fig & a8
g faar & fraen gR e

(A) 140 WIT (B) 110 e

(C) 120 Wi @) 100 Wi

X, fig A% Ba® @en| AR a8 Q¢
el 3R ITY 17 We Far| a8 R W
gl T 3R UF ¢@ a® =, S fb A
W B @ away # | 98 fhv A QN Her 3R
3T 9 Wie ol | 379 98 YRl fag @

famr g% 87
(A) 7 BT (B) 7.5 W
@) 8 wie (D) 9 Wie
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Q69

Q70

In the question, one statement is given,
followed by two conclusions. Land II. You
have to consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given statements.

Statement 1: Domestic demand has been
increasing faster than the production of
wheat.

Conclusion I: Domestic demand must be
reduced.

Conclusion I1: We should export wheat.
(A) Only conclusion | follows

oB) Only conclusion 11 follows

(C) Both I and Il follow
(D) Neither I nor 1l follows

In the question, one statement is given,
followed by two arguments | and 2. You
have to consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to
decide which of *he given arguments, if
any, supports the given statements,

Statement : Should mid-day meals in
government schools be stopped?

Arguments 1: No, it provides at least one
meal to the underprivileged childern.
Arguments 2: Yes, it provides a wrong
incentive to attend school.

o/AA) Only arguments | is strong

(B) Only arguments 2 is strong
(C) Both arguments | and 2 are strong
(D) Neither arguments | nor 2 is strong

SERIES-A

AllGovernmentJobs.in

Q69 WET ¥ Ug P 3R IwD q1g B Freny,

13 11 2T U &) vl 39 HUF B
Hc AFA 81, W & U8 A dR W
ST areal} [ ST ydid BT 8| 3P
a8 ou o & b v v et 7
e s, afy &8 2, R 1w s
&I AARVT Bl 8 |

HUT 1: g B ITE Bl ger H IHH!
ERe #i ol | ag @ 8|

frspd 1; BRe] AT B DI S AIRY |
s 11 &8 A @1 Pt s =@fey |
(A) dad Frepy | IR0l HRal @
B Paa P 11 AR B 8
(C) 13 11 €1 SIgHvoT Pl &
(D) = @ 13R 7 & 11 /T Heeh ©

we 3 U U 3R IHD 918 &l dd, |
3R 2 Ry g &) U 39 BT Bl
T WA 81T, Wl & 9¥ 3 R W
ST doul ¥ T Udld BIaT 81| Idt
g qu w8 Ry oAt @
Fre A, afe a8 8, Ry 7y HEi &
HFTARY] T B |

T ¢ W) T @ far 9
AT HeATE Mo §9¢ &Y QA Sl

o

ﬁ'cﬁl:ﬁﬁ,uﬁﬂﬁlﬁﬂﬁfﬂﬂmﬁfﬁq
TF GG BT WG UG N B

aF 2%, U8 WOl H 9 @ fg e
YredTEs WS &Yl 8 |

JA) IS TH | AT §

(B) dad @ 2 woiqq &

(C) @@ 1 3R 2 M worgy &

(D) 7 @ @ | 3R 7 & 7B 2 7oigd §
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Q72
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w7(A) Dictionary

Q74

Q73

In the question two statements are given,
followed by three conclusions, I, 11 and
[11. You have to consider the statements
to be true even if it scems to be at variance
from commonly known facts. You have
to decide which of the given conclusions,
if any, supports the given statements.

Statement |: All the students in a class
are bright.
Statement 2 : X is NOT bright.

Conclusion 1: Some students are NOT
bright.

Conclusion 11; X must work hard.
Conclusion I11; X is NOT a student of that
class.

(A) Only conclusion I follows

(B) Only conclusion 11 follows

¢£) Only conclusion Il follows

(D) Neither of the 3 follow

Which of the following words does NOT

have its letters in an alphabetical order?
) Blank (B) Alloy

(C) Empty (D) Begin

Which of the following words can be
formed from the letter: ydcinratoi

(B) Directory

(C) Direction (D) Doctrine
Select the option that is related to the third
word as the second word is related to the
first word.

Rooster : Hen :: Stallion : ?

(A) Horse «B) Mare

(C) Foal (D) Doe

Each one of the following options consists
of pairs of words. Choose the pair that is
similar of the pair given in the question.
Writer : Book
(A) Painter : Brush
(B) Sculptor : Stone

C) Potter : Pot
(D) Dancer : Shoes

Q76 Select the option that is related to the third
term as the second term is related to the
first term.

AB:NO :KL:?

(A) WY ‘,(B} YZ

(C) WX (D) XY
. SERIES-A

15

Q71

Q72

Q73

Q74

Q75

Q76

i

2
F4%

!

.

—

Tk

E.ﬁ/

233
r‘znb

i
%&

§

2
F

5 5

frafafeg o) & 9 59 v & 3ER
TUIHTCT AR el 87

) Blank (B) Alloy
(C) Empty

(D) Begin
fmfafaa gl A [ HiFw el
ydcinratoi 3R} § a1 ST Hhdl 87

o/ (A) Dictionary (B) Directory
(C) Direction (D) Doctrine

34 fAeey &1 999 HY ol deR I |
I ypR | Hafde 2 g uer I ugdl
9% g v W e B
et s e 2 ?

(A) =T (B) €1l
(Cy e @1 gzar (D) fexdil

frfifaa el d vads
e & uee § Ry v Wi

# v&@f B
| e @

VB YZ
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Mental Aptitude, IQ & Reasoning Ability

Q77 Which of the following answer figure Q77 fr=faRed # & o & Iax Eicanical

patterns can complete the series given in e ye angfar # & sfwen & g
the question figure? &I T 87
|;5 g | [ R A

& | A | |l e® | a | |

B A B
o ® v b ® A ¥ © v ) ® A
3] & ® &

©) ) A ©) ) &

Q78 Which of the following answer figure Q78 fr=farflaa § 9 &9 o Iar 311?5% Eal

patterns can complete the series given in e ge angfar A € 1 e & g
the question figure? &Y Thdl 87
o~ ST = =
A m} o | ; A O o |
0 D |lO [ (o] DO | l
D D D D
O FaN O A
A B
(A) - (B) 0 (A) o (B) -
1A | O IA 0
PO O I O O
C) (D) (o I D
A A A v(©) | - (D) 5
Q79 What is the minimum number of lines Q79 & 7€ Bfa g & fw =W fea
required to make the given image? @GR B TR 87
',(2) :g (g) :2 V(A) 16 (B) 13
© D) (C) 15 (D) 17
SERIES-A 16 SET-17
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Q80 I[famirror is placed on the line MN, then

Q81

which of the answer figures is the right
image of the given figure?

¢ K

M

(B)

©) )

A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it
will appear when opened.

i

— 3
N7

@ | S
— =]

0 ap.[
KL

.(/B)

KON
X0

[Fl
Z
ILA

© (D)

> &
L4

Q82 Arrange the following words as per their

order in an English dictionary and choose
the one that comes first.

Voyages, Voucher, Volunteer, Voltmeter
(A) Voyages (B) Voucher

(C) Volunteer ép,} Voltmeter

SERIES-A

17

Q80

Q81

Q82

af v gdur &) War MN TR @1 7741 2,

a1 P W I apfa € E sy
we Bfa 8?
® NI
D K ® K
(A) /V\ (B) N\
M ® ¥ D
© /V\.(»)
e e A A Ry agER TR @

<o @ Wies o v fran T &1
¢ SR el o, §fa w6 g8
Wel 9F W g8 e g T

NN

i |
i

fl

i H
1 H
{ \

[t § —] — —]]
$7] , 35
(A) B) | U7
PN N
© |~~~ | (D) |
4P |

frafafea weal @ A vEd B
FHAAR v AR 9 =" B G o
el ggel Y|

Voyages, Voucher, Volunteer, Voltmeter
(B) Voucher

Jp/) Voltmeter

(A) Voyages
(C) Volunteer
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Q83

Q84

Q85

Q86

Q87

Q88

A series is given, with one word missing.
Choose the correct option from the given
ones that will complete the series.
Ethnic, Icebox, Oxen, Entice, ?
(A) Chronic (B) Obscene

VC) Century (D) Forgetful

A series is given, with one term missing.
Choose the correct option from the given
ones that will complete the series.

EDC, GHI, MLK, OPQ, UTS, ?

(A) YXW (B) XYZ

(C) ZYX v (D) WXY

A series is given, with one term missing,
Choose the correct option from the given
ones that will complete the series.
WWWWWM, WWWWMW,
WWWMWW, WWMWWW.
WMWWWW, ?

(A) MWWWWM ¥B) Mwwwww
(C) MWWWMW (D) WWWWWW

A series is given, with one number missing.
Choose the correct option from the given
ones that will complete the series,
-10.8,-8.9,-7,2,-3.2

(A) -4.9 (B) -5.3

(C) 4.7 V(D) 5.1

If the 4th day of a month is Friday, which
of the following would be the 3rd day after
the 25th day of that month?

(A) Wednesday Fﬁ) Tuesday

(C) Sunday (D) Monday

A series is given, with one term missing.
Choose the correct alternative from the
given ones that will complete the series.
G227, X3H7,15V7, T719, 9

(A) LIORI2 (B) KI11S11

) KI1IRI2 (D) LI0R11

SERIES-A

Q83

Q84

Q85

Q86

Q87

Q88

a1 Tl Aol v v g @
et 3 & wferer fea gty o S
BT gui FRA 8|
Ethnic, lcebox, Oxen, Entice, ?
(A) Chronic (B) Obscene

VC) Century (D) Forgetful

@ 2 vd vT qa &) Ry o
f&tﬁ@‘fﬁ@ﬁfﬁmgﬁqvﬁ%ﬂﬁ
@1 gof eear &)

EDC, GHI, MLK, OPQ, UTS. ?

(A) YXW (B) Xyz

(CJ 2¥X% D) WXy

QR A ¥ ve we ga B Ry T
Reedt 3 9 Sfre Ry g o A
&1 yoi &var &)

WWWWWM, WWWWMW,
WWWMWW, WWMWWW,
WMWWWW, 2

(A) MWWWWM M) Mwwwww
(©) MWWWMW (D) WWWWWW

< A # o e gur ¥ Ry T
el 4 & sfr Ree ghie ot s
@1 gof Fvar &)

-10.8,-8.9,-7,7,-32

(A) 4.9 (B) -5.3

(C) 4.7 V(D) -5.1

uﬁ%ﬁqﬁ%mﬁmﬁawa
ar Frrfefad & a9 a1 e ol w9
@ A R9 & A a1 dr R
&TT?

(A) guIR wB) wirerar

(C) ¥R (D) Hrar

4 g A H ve ug g 2 Ry o
fawedt # 2 St Reer grav. Ao o1
qof &Y |

G227, X3H7,15V7, T7)9, ?

(A) LI0RI2 (B) KI1S11

“/C) KIIRI2 (D) LI0R11
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Q90

Q91

LIVS6d
Q
D
o

Q93

Q%4

In a code language. 972 means “steel is
strong’. 298 means ‘iron is strong” and 387
means “iron and steel’. Find the code for
and’.
(A) 7
(C) 2

(B) 8
JD) 3

In a certain code, WANT is written as
4715 and COPE is written as 2863. How
is NOTE written in that code?
(A) 2384 (B) 8118
wC) 1853 (D) 9890

If in acertain code language. *+ represents
"%, =" represents +7, * x " represents * = ”
and * + " represents *-’, then find the value
of the following expression.

8§+ 4x2-9+3
(A) 20

JO) 33

(B) 12
(D) 15

IFCENTAUR is coded as ACLRYSP, then
how will HOP be coded as?

(A) BGD (B) FMN

(C) WSX (D) RFV

If A @ B means A is the son of B,A# B
means A is the husband of B and A * B
means A is the daughter of B, then what
does P @ Q* R#S mean?

(A) S is the mother of P

(B) P is the grandmother of S

(C) P is the mother of S
WD) S is the grandmother of P

If P % Q means P is the brother of Q, P!
Q means P is the mother of Q and P * Q
means P is the son of Q, then which of the
following shows that C is F’s mother’s
brother’s son?

(A) C%D*E!'F(B) C*D!E%F
C)C*DBE!'F@@ C%D!E*F

SERIES-A

Q89

Q90

Q91

Q92

Q93

Q94

W) 1853

fsef @e wrar # 972 &1 3ef B ‘steel is
strong’, 298 &1 312} & ‘iron is strong’
3¢ 387 @1 31f & “iron and steel’. ‘and’

@ foig ge s w |
(A) 7 (B) 8
(€) 2 ‘)D)B

fadt fardhy @z #, WANT @1 4715 feren
W & 3R COPE &1 2863 for@r s
81 39 & A NOTE &9 forar sigan?
(A) 2384 (B) 8118
(D) 9890

afe fbd fadw @e W § 4+, @Y
UEA BT B, -, + DY U PRl B,
“x*, "+ Y URRICT YA B 3R
g wean v, a1 FeafaRea et
B I T BN |
8+ 4x2-9+3
(A) 20

Wo) 33
afd CENTAUR &1 ACLRYSP %1 3¢

qg fhar omar 8, @ HOP &1 fve oRe
He g fHar smor?

(B) 12
(D) 15

(A) BGD VA B) FMN
(C) WsX (D) RFV
I A@BHT AT B 5 A,BHF U7 2,

A#B®T 3l & f5 A, BT Uy 8 3R
A*BHT i 8 f& A, B g 8,
P@Q*R#S & aar aef 87

(A) S,P I Hi &

(B) P,S @ g1 &

(C) P, Sal #f &

W) S, P& el B

gk P% Qa1 aef B f P, Q& WK %,
P'QHref & i P,Qa #i & aiR
P*Q@dr aef & f% P.Q&1 4= & Al
frferRRae # @ qofar & f6 C, F o =t
& Mg P g 87

(A) C%D*E!F(B) C*D!E%F
(C) C*D%E!F@) C%D!E*F
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Q95

Q96

Q97

C said to D, “You are my sister’s
husband’s father-in-law.” How is D
related to C?

(A) D is the grandfather of C

(B) D is the father-in-law of C

‘Q} D is the father of C

(D) D is the son of C

In the following figure, the square
represents psychologists, the triangle
represents chemists, the circle represents
actors and the rectangle represents
mothers. Which set of letters represents
mothers who are NOT actors?

“?FH

“(A) B

v(B) G
(C) D+E
(D) B+C

Which of the following Venn diagrams
best represents the relationship between
herbivores, wolves and tigers?

SERIES-A

Q95

Q96

Q97

CA D @&l "gn ¥ a8 @ ufy @
WYY 8117 D, C ¥ v vy wafw 27
(A) D.C %7 It 2
(B) D.C &7 ¥¥¥ &
(@2 D. C &1 far 2
(D) D.C#T gz &

Freferfae snepfay 3, aqfar we==
31 gufar 8, Bt varEfe) &
8 g Aafidaei @t qufar 8 o
FAATBR AT BT qufar & | s =
& AT e I qamit @y qufar = =
AT 8 87

X

(A) B
@G

(C) D+E
(D) B+C

fFrefafed & @ oy 91 49 ams
a4 B WY ST T 87
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Q98

Q99

The given line graph shows the record of

number of tickets sold at the theatre
counter on the first 6 days of a show. On
how many days was the number of tickets
sold less than that sold on the previous
day?

1 ) ]

¢ 1000
= U 2500 o |
B 201 I
A s - |
$ ¥ o |
[ & e d |
43 + ‘
1 2 3 5 & |
]

(A) 3
(B) 1

) 2

(D) 4

The given bar graph shows the number of

employees working in 6 departments of a
company. What is the difference between
the number of employees of Department
E and Department C?

bt 400

m
= 5 s
3
»
=
a8

g T 100
oo 50

Departrment

(A) 50

) 250
(C) 150
(D) 200

SERIES-A

Q98

Q99

feam Tar Y s 9 @ ugd 6 faAr A

forey ®Teer W a9 TS fewmel o wwemn
o1 Repfe fewmar 8| oo e ad w8
@l & e fioa 25 =0 2 Rl
I w9 o0
ey

L :::l' e
|’°Z|__ S Py,

i fra

(A) 3

(B) 1

&2

(D) 4

fear T aR e R BU @ 6
faqrit ® ®m S gt Rl A
e & gutar & | v E 3R fawmr
P HHARAT @ G ¥ faar afae 87

= -

(A) 50

W 250

(C) 150
(D) 200
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Q100 The given pie charts show the shares
owned by the four partners of a certain
company for the years 2017 and 2018.
The company had issued 1000 shares that
are now owned by the four partners. B
sold some of his shares to A and C. If A
paid ¥2,000 for each share, how much did
B receive from C for the shares sold to
cR

Year 2017

(2[5
&%

(A) 750,000
(C) %2,00,000

Year 2018
A
ﬂ.zu%
q
50%

(B) %1,00,000
(D) %3.00,000

Q101 Which word does NOT belong with the

others?
(A) Fail (B) Sad
(C) Happy (D) Excited

Q102 Find the odd letters from the given

alternatives.
l,(udt) ORU (B) CEG
(C) IKM (D) UWY

Q103 Choose the figure which is different from

the rest.
% K X 3 X 5
(A)+++ ®) | X % %
X + X + X
W K - + + 4+
(C)+><-I— &D)XXX
4+ 56 X + x -+

SERIES-A

Q100 f&ar 7ar g ard a¥ 2017 AW 2018 &
fore el Boel & AR arfiert & w@nfie
arel N @Y R 8
HUA A 1000 IR o fav O e
W o/ ¥ gR 9ERER &1 B A
HY TR AR Cdl 99 Ry afy AF
wRe 9 B fav 22,000 @1 g
fasar o, @ C &1 99 U IR & forg B
@1 C A far yprar wa gam?

T 2018

o 2017

(A) 50,000 (B) %1.00,000

(C) 22,00,000 (D) ¥3.00,000
Q101 DI T ek 3T Y& | AAT &7

(X 3rae (B) gt

©) gu (D) Scuifad

Q102 fav v fwedt ¥ & fus e g+ |

ORU (B) CEG
(C) IKM (D) UWY
Q103 B¥ MG B g Sl Al pfoAl A
3T B
xR X [ % 4]
(A)+++ (B}?Kv’x
X + X R i
X X + -+ — 4+
+ X + X % X
© &
+ X X| R T
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Q104 Choose the figure which is different from

the rest.
X QA X O A
@Y Y M g WEY
|E WO MV Q
'VOF| [vay
V(C)MXY(D)AWX
W A Q EMDO

Q105 Select the related word from the given
alternatives.
Wife : Husband :: Bride : 7
(A) Marriage (B) Love
(C) Man /D) Groom

Q106 Select the related number from the give 1

alternatives.
23:8:34:?

(A) 64 vB) 8l
(C) 25 (D) 36

Q107 From the given answer figures, select the
one in which the question figure is hidden/

embedded.

(A) \ .}B} NN

©) (D)
SERIES-A

Q104 SH el 1 g Sl el anpfaal |

3T ¥ |
X QA X O A
w |V YM g lWEY
[EWO-l MV Q
'v O F| vay
ve (M XY |AWKX
W A Q EMO

Q105 Ry v faswedt & waftra o &1 ga4
&N |
gl : gfd o gese 7

(A) T (B) o9
(C) amgH D) geEl
Q106 &y ¢ Raedl # & wafm W g4?
23:8:234:7
(A) o4 viB) 8l
(€) 25 (D) 36

Q107 & ¢ I angpfadl H 9§, I¢ (F P
gy #Y forad we anpfa Ffea 21

¢

(A) B o

©) (D)
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Q108 Which answer figure will complete the Q108 & ¥ I W% gsq Sﬂ—{{,ﬁ[ ¥ et
pattern in the question figure? BN QW BAT?

/n’

a

(A)

o[

/n’

a

P \\él (A) N » ;é”
) |5 ;] ©) (D) E

Q109 Which of the following answer figure Q109 FriferRae # & B W S TPl B

patterns can be combined to make the

Yed ® ye ampfa a9 & g e

question figure? ST AT &7

[ ] L]
. ] ] H

— —— |—| = —— )
(A) —If I L (A) T 1l

o P o B
o T E w THFE

wBP AR
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Q110 Which ofthe following cubes in the answer

figure CANNOT be made on the basis of
the unfolded cube in the question figure?

T

I .

w
O]

(A)

Read the following information to
answer the given 3 questions (Q111 to
Q113)

Following are the conditions for awarding
Z5 lakh compensation to a farmer for loss
due to flood.

A) The farm affected by flood should be
atleast of 5 acres, but NOT more than 25
acres.

B) The flooded farm should be atleast 2
feet under water for atleast 1 week.

C) Other income of the farmer should
NOT be more than ¥20,000/ month.

D) The farm should have standing crop
at the time of flooding.

E) The farm should be uninsured.
However, in case a farmer fulfills all other
criteria EXCEPT-

1) C above, any subsidy received can be
excluded from other income.

2) D above, if harvested and crop was
submerged in floods then only 2.5 lakh
will be awarded

3) E above, if insured and insurance
claimed is less than 5 lakh, then only
difference will be compensated.

SERIES-A

25

Q110 TR PRy # fore w1 Y we anepfer A

Bd §Y B @ AMR UR A q91dr S
REI

T
L+
O]
A) | {Ziﬁ)} <
L v I
(©) (D) : : O

fow g 3 gwE (Q111 ¥ QI113) &1
Ia o7 @ fau fF=fafaa S
gfeq |

et e @t @@ A gU IHEE @
WwuE @ forg Ry o aret 35 aE B
Hamaw @ forg fr=fefed od &)

A) a/@ B gR1 wifad & A WA 3
9 Y BY 5 Ubs, olfh 25 THs A
ey =18l & @Ry |

B) dREUw Wd HH | HH 1 HCE db
3R 9 N B 2 B g F a1 g
afey |

C) fram @t a=a Sidl | 3 220,000
yfame 4 e & &9 @fRy

D) 9% & Ry Wd H WS BHA BN
EiSY|

E) @d & 91 & 8 Ay |
=g @ A P g Heal B |

1) C SWiad, & i yor @ e
arell BT oY A ¥ Fidre €1 S |
2) D SWidw, Ay wad B P g 8
quT wad g A gl 81 a1 dad 2.5
org € fay S

3) E S, afy dfva afda o §mr
@7 25 R A BY B A dad AN B
ey gaman fadr wme |
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Q111

Based on these criteria and information
provided below, decide the course of
action in each case. You are NOT to
assume anythings.

Farmer X has 30 acres of farm of which

15 acres was under 2 feet flood water for

10 days. The farmer’s other income of

225,000/ month includes ¥6,000/- month

subsidy. The farm had unharvested crop

when it was flooded. The farm was NOT

insured.

(A) Award 5 lakh compensation

(B) Award %2.5 lakh compensation
«C) Award no compensation

(D) Data inadequate

Q112 Farmer Y has NO other income. His 10

acre farm was flooded for 8 days under
two and a half feet of water. The farmer
receives NO subsidy and the crop was
standing at the time of flooding.
o) Award ¥5 lakh compensation

(B) Award ¥2.5 lakh compensation

(C) Award no compensation

(D) Data inadequate

Q113 Farmer Z has 20,000/ month other

income. The crop was harvested but was
lying in the field and submerged during
flooding. 10 out of 15 acres were under
2.5 feet of water for a week. The farmer
has claimed zero insurance.
(A) Award T5 lakh compensation

oB) Award 22.5 lakh compensation
(C) Award no compensation
(D) Data inadequate

SERIES-A

Ql11

QII2

Q113

AllGovernmentJobs.in

a1 Ry 77 g9 AFEET AR SFEN &
IR W T HH A hriam! o o
o 3y B N JuA T | A el
T |

foram X @ urg 30 Udhe W & forad 4
15 Ths 10 fa7 & 2 Wie urit & 1 & |
foram &1 = 3 # 225,000 9 718
1 ama e 26000 uf @718 BT W
M 8| o9 @ | 916 IE I9 B
@ FeE T8 g3 oA | Wd @1 de TE
farar T e |

(A) T5 oI Hamaon f&ar §g

(B) %2.5 &g {argen f&ar W

{9y K gamau @ far wmem

(D) 3t argafe &

e Y &Y o= B A T8 8| S
10 Yo & Wd ¥ 8 &1 a& 915 ang of
AR B o wie urdl A gar gam o
o @) a1g ge 6l el AR 9@ &
Y A G oY |

(¥ 35 e oo fam S

(B) %2.5 g g f3ar s

(C) ®¥E WparawT 78! faar sy

(D) 3w uaia &

feam z @ o= amg 320,000 wfeHE
2| BHd A FerE g2 A W’ v W
AofNlalRagAg@ 1 15 THS ¥ 10
THe Wd Uh T8 a6 2.5 B g1 &
e @1 fhar 3 9 &1 B @
8 fdar 81

(A) 5 @rg garan fear Wy

' 2.5 @ Hmasn fear wm

(C) ®¥ gamrar =& far sy

(D) difes sugia 8
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Q114 Prfafaa we ¥, a famedi # 9, fav
U e @ WEl §Are aren faded
e |
EECH
(A) g% € = # forasd
(B) = & 3R H forad
@y%mﬁvm%mﬁ
(D) @ & W A Rrd

Q115 freiferiad weet &, = fased Ry v 8
R @ 99 fRAdd & 999 & A
o1 / AT BT HER AT T v fahe
gl

I AW AT are
(A) A (B) U
(g TR (D) 3R

Qnaﬁ‘mﬁ@ﬁmﬁ,aﬂﬁmﬁqw%
R @ e T fay Y sl e
mwmﬁ%lwmﬂﬁgﬁl
qal

v(A) BT
(C) udd (D) TS

Q117 =il we #, o Rz # 4 w8

Hdt SRS B gEanq |

A5 A gD el |
A e (®) 7
(C) gfa (D) &R

Q118 A Ry 7y ye w1 W fiaveq weAT
el 31 aar aed g 87
(A) ST TR SIS
(gfeﬂasrﬁzb-!
(C) R F &
(D) Rra@r @™ @

SERIES-A

®) -
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Q119 fFrmfaRaa we #, ar el 4 9, v
TU qrEm b1 W drdl drenn faded
ggant |
At gut a8l |
(A) | qA B
p{@ﬂwaﬁﬁﬁiﬁm
(C) |Mrg 9fasy &1
(D) @I

Q120 Pr=ferRea wed #, IR e § & wel
Tpd®s BFaT & ST8RYN Ygd] |
(A) BRI & W 8
(B) fafeat 5 & &
(C) X ST E B
AD) e drom qom W@ &

Q121 Fr=fafaa we ¥, ar fee ey v &
R 9w fwey &1 9T B Wl Ry
U S @1 W) gfew s R
HUTS

(A) T (B) #wewRmil
(g e (D) dTeuE
Q122 ¥R Ry T I& & Wl IgaT Y
arer faden ugErg |
farfesa
o forfat (B) fafsamg
(C) fafeat (D) ferer

Q123 PrfrRaa e #, ar el § 9, 59
wE Rdey &1 997 P ol —
g0} TR B FEGAT W dlel 9N 9% 94l
Pl SfIT 87
(A) ¥R
(C) aotaTeT

[BEE
(D) eafat

le4ﬁwi%«ftqﬁwﬁ,aﬂﬁﬁq‘fﬁ@.w
a8 ey @1 9u X Y qara § -
o @ W Rd fed @ oy fea
fre @1 SUATT fbaT I 27
(A) ITERR (B) argRi®
(C) &aia (D) ¥
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Q125 f=iferfaa wew &, ar Reeat § QA ws
I | g9 draT el fa9wer veg grerr

fawe gfag |

BIES

(A) viwads  @f aftaameh
(C) ufkRes (D) R

Q126 F=fafaa weT #, Ry v Raet § 9
JEIHT Tew B HER W G B FE)
NS & YgaIfae |
g 3 e ama 2
o sfreaa arm wdm
(B) W9 arEd Hd-H
(C) w9 gras ad-m
(D) FHoaras wdam

Q127 Atz Surary &Raly o & ufig
AT B AT 2?
(A) &1
(C) W9 ey

wB) fauar
(D) 3fer g

Q128 Ffefaa e # ar el § 9, 89
el fddey &1 9aw B S gaar & fF
HUTEaRRI U] g7 YT ST B
are?

(A) wgTEn ) e sifaa
(C) ToREN™ (D) Frel

Q129 fA=foRad ue #, ar eyl § |, 59
e faweq &1 wa= @ &Y qarr & fb —
FH 9 BF W AREE R WRE @
T8 87
(A) 31 Mfag

v(Bwﬁaﬂﬁﬁr—c:
(C) T ¥RT & Ug
(D) T8 gea™

Q130 wrg=ieltel aqgddl a1 fbe = & forg
wifec ypredl qREpR far war o
) et (B) \wdur
(©) gTR7 (D) e

SERIES-A

T Ry M Teiw @ a€ 5 gy
Q1319 QI135) fy 1A &) g0 ey
B MYdE U R R Reeat § @
IS U¥T @ walwd S g |

IREl S 4T F g & "vEr B s
el 8 STl o7 | 3N 399 Aerr off 3w
T A & 48 Rad "ol | Tvar
et H G P TR T & oo
AT I HAPY B ST ¥ AR A
TR—AR Y&l TP o el AR & |
Sief AT 1 Sodl wr asfat uRde &
amafrd Farh & a8 I A T 9
A% A 3R verer ¥ om frae gar
S S | enfral @) arerh &1 vewrg
HR & | war B gfver, won, g9 ik
Gded &1 7 e A @ R T @ @i
AR, Bahs adiad @ | g=ET FHi
UEIfeaT &1 -1 89 R &Y 8, et
P BF I6 WA Gt gt o & | wph
I e d<d A sred Raar) 2
a9 B el B AT B B are
& S AT 3 AT BET &N | T
BT Jg AT 8T & 99 Ua § TS g9
DA, a1fife o SRias e fern |
T R & @ H 9 5w agt @
AHFAN Belt Gefl Mg g wafy
1 B ARIT BT IR aXd R AR F
Bell | g dena R § osifie
(1844), IoRMERIE (1873) T W YR
R (1904) & 17 fashy vy @ Seor@-g
& | angae 81 a1 fftafemaan, gfifeen
81 a1 Freden, R gicareT g avar
4 fer we & s w8 e &/
T B b el 7 W I IR
g & | el adt A TEE w® W
By < a1 war ger weY At fae
IIS! BAPIY ST B AT B
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Q131 g &1 e i 3R ydeq &1 dar

L0

(A T BT BXAATAT

(B) < < drell
(C) =udgE 3 aTell
(D) SrHeTH

Q132 ©1. 99Tl 7 =¥ B 3] P DHEl?

(A) a8f | 3 & qI1e

(B) 3/J¥d & d1e
() 5 & g1 & a1
V(D)a@ffa%m‘c:

Q133 g & WWrEael! Fat wer T 8°

SA) XN B BRI
(B) ST & HRYI
(C) Rerfr & @wor
(D) uRRerfar & BT

Q134 T & o elt ¥ I ygar g’

(A) foes
(B) @il

C) @em el
(D) arTart

Q135 adfitga W &1 WAFRI e e A

¥ ygafy |
(A) Enfa
oB) TR
(C) @i
(D) Henfrat

Q136 f=iforam wem #, R fwedl & 9, 99

wE fReey &1 9+ Y o Qg 7Y g5y
@ Sfere arcipR Y & WaH 31T fdhe
g

AraRe @) @dR ue od dR — IR
(A) ¥IY ABR

(B) afaeafa sreiar
V(C)!Wcﬁa!afm

(D) ITHETT DR

SERIES-A

Q137 Fr=fefed g #§, R fawedl # 9, 59
|l fadey &7 99 &N o) Sl Ndifdhd
] B e AT B AL B
Ha Y gU GEI A a8 DT |
(A) faemnfedas sy

V{B)Wiﬂu?ﬁm
(C) \yeay dud A
(D) fopan fadryor g

Q138 fferfaa wem #, IR fawedt 4 4, 99
w8 fAwey &1 9= B O IYE a9 B
YE U B Ha9 1 e B |
fremer % @i aer w1 e 2
(A) Rarem & 9@ 931 HaM &1
g e ot @i o T @ A R
(C) fermera # g1 @1 ASH B
(D) franem & ad asT &1 daH ¥

Q139 fmiferRad ue A, IR el 4 4, 89
T8 fAdpeq &1 TaT SN oY garm & fb-
el Be ¥ Wl =0T §AE B & 9N T
HET IR 87 a
(A) fwmfs B
(B) efAa ve
() TER® v
(D) Wf3® Ba

0140 Frfefed wem ¥, ar el 4 9, 99
| ey &1 a0 B ol Y 77 gerar
o1 a8 3t aren fawen #)
He — =1 & g 4=
(A) @ gHET
(B) G AT
(C) afdsra g

(P TEa Sl &
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Q141 F=feiRed ues ¥ ar Rwcl § A, 99
e e &1 T Y o garer & -
el forell 81 @ &R 9e Wi Suferg
BT 8, 9Et fb wra Y SuRefy ved
27

(A) T (B) @R
(g/ma'm:r (D) T

Q142 FriferRad weer #, wr Rdedt § ¥, 9w
wel fawe &1 ggq N o Pdeer
i gRad arem wE ey 8
M1 ) YAl & @ | (Hraares)
ST R A T ot @
(B) YEIT ¥ ¥t gerch &
(C) W wEt werrg
(D) ¥t v weg

Q143 3 &1 ey gvvr fre a1 &7
(A) =1 50 * sl wge @
(B) #i 7 W/ — deT Har IR oy
(C) are ! fba=r wam am &7 2
(D) TN gden Fa | Yo &?

Q144 fr=ifoafad ye ¥, =R fRAwet ¥ 1, w4

fRees &1 a9 & o Ry v s F1
HEl A el qrelT el B |

R
W TR (B) faew
(C) usm (D) wfeer

Q145 fr=fafeaa e % ar et 4 ¥ 9y
fawey &1 age & o wE Reey 2
Sua R e €Y & v WEl

B &
uB) s
(D) Hd=mH

(A) fpar
(C) wrezier

SERIES-A
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Q146 fr=iferfad yew & o frpedi 3 ¥ vy

faswed @1 T w9y @ 7€ g
gl

(A) R (B) ¥+

(C) =ama W) aRaa

Q147 fr=fofad yea % ar s Ry 1y
ol & v 7= Ry g v @

GECE R
gyt
(A) AR (B) i
©) o Py T
Q148 Fr=ferRaa wet % IR fsedi ¥ , Ry
Y e & faudrer svef aven ey g
S
(& e (B) ey
(C) R (D) gar

Q149 Fr=fafad wem # ar Rt % ¥, vw
fRwea @1 979 ¥ o 98 GR-RAwse
arer faswey &)

BRI

(Y + g
(B) "R + g1
(C) TR + g1
(D) TR + @

Q150 fr=iferRad ue ¥, AR Rsde Ry v &
o4 & 39 Reey 1 77 B9 o 92
T A DT [Jpeq &
e
(A) FAf¥a ‘p»)/g-m
(C) ™ (D) M4
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